
 ٹیسٹ سے پہلے کم از کم تین بار درود شریف پڑھ لیں 

 

 

 

1. Sexual reproduction usually involves  

a 1 parent b 2 parent c Both A & B d None of these 

2. Reproduction is very important to the survival  

a Species  b population c Individual  d Both A & B 

3. Devolving seeds are which source of? 

a Auxins b cytokinin c Gibberellins  d All  

4. The sac-like scrotam is present in? 

a Ovary  b Testis  c Lungs  d Kidney  

5. Which hormones stimulates ripening of tomatoes ? 

a Auxins  b Ethane  c Cytokines  d All  

6. Parthenocarpy is the development of fruit without? 

a Pollination  b Germination  c Fertilization  d Harmon’s  

7. In the honey bee male sprum are produced by? 

a Meiosis  b Mitosis  c Apanixis  d All  

8. Humane gastation period is of ? 

a 280 days b 23 days c 9th months  d 8 days  

9. Haploid egg develops into haploid offspring is called? 

a Haploid parthenocarpy  b Haploid parthenogenesis  c Diploid 

parthenocarpy 

d Diploid 

parthenogenesis  

10. Discharge of egg from ovary is called  

a Ovulation  b Menstrual  c Oogenesis  d  Gametogenesis  

Q # 2  Short Questions  2x10  = 20 

1. In list the method of a sexual reproduction? 

2. Name three artificial method by moods of a sexual reproduction? 

3. Which characteristic made seed plant predominant plants on land? 

4. Name the components of male and female reproduction system? 

5. What changes occur in ovulation and menstruation during pregancy?  

6. Defined haploid and diploid parthenogenesis?  

7. Define identical twins? 

8. Write difference between sexual and A sexual reproduction? 

9. Describes Aids? 

             10.  what is ovulation? 

Q # 3  Long Questions  2 X 5 = 10 

 

1. Explain the female reproduction system? 

2. To describe the reproduction in plants ?  
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